z= &
B e Ak — A i T R R T 2
q =
<& ﬁf =
HhEE R 108 [
Bz - HrENT
H g OB B S AL
=] ) =
) 1 T O\ > (:_Egg %
81 SEFS L) 2 AR

811 AHARRER (AL -3,879,000 1,670,062 5,549,062 -143.05

812 FHEEIEE BIHH 18,665,992 18,665,992

8124 Eh & (FF#H CFIF) 18,665,992 18,665,992
813 FEFSEN ISR ACR ) -3,879,000 20,336,054 24,215,054 -624.26

82 HAMEEh 2 e R

82D Jet/ RIS R HAth B (R -862,075 -862,075

827 HAMUEE) R ERACK ) -862,075 -862,075
83 T AV E T 5 2 I CFIR) -3,879,000 19,473,979 23,352,979 -602.04
84 HIHIER & AV E T & 17,423,342 22,298,701 4,875,359 27.98
85 IR RATETH & 13,544,342 41,772,680 28,228,338 208.41




